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Note : Answer any five questions only. All questions carry

equal marks.
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Define the following terminologies : 1x5=5
() Animal husbandry

(i) Cross breeding

(i) Balanced ration

(iv) Gestation period

(v) Broiler

What do you mean by mixed farming
system ? Describe any one mixed farming
system based on livestock. 2+3=5

Describe about any two methods of 5

identification of livestock.

Describe intensive and semi-intensive 5
systems of poultry production.

Describe any five factors affecting 5
conception.

Define artificial insemination. Write its
advantages and disadvantages. 1+4=5
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What are the signs of a sick animal ? 5
Write short notes on “Vaccination” in 5
animals.

Classify roughages. 2
What are thumb rules for computanon of 4
daily feeding of lactating cow ?

Describe feeding of piglets. 4
Describe any one system of fodder 5
production.

What are the different  methods of 5
conservation of fodder ?

What are the factors affecting haymaking ? 5
What are the advantages of silage ? Name '
different types of silos. 5
List two grass and two legume species
suitable for low and high shade
condition. 2+2=4
How does social forestry help in 6

employment generation ?
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